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Special Permutations, Combinations & Probability By Alok Sir

— Type-1 Questions Related to Permutations

and Combinations

4 TaAT o STEATURT, 5 HAT o FLATYRT TAT 3 TV
% 3TETTURI B |, 6 3TeATUH ki Teh HUST I &,
TeRe STETT- ST aiehT & SRHET STt ST Wehel 1 &, AT

way that the girls do not sit together. In how many
LIC (AAO)]

teacher. In how many different ways, can the

committee be formed, if

!
i
i
In how many different ways can the letter of the i 6. Two teachers from each stream are to be included?
word 'RUMOUR' be arranged? i E\T 3TEEUh m faoar & keIt i) ﬁ‘l
feha™ 3TETT-3TeTT A€ | 96 ‘RUMOUR’ @ht STaerd | (a) 210 (b) 180 (©145  (d)96
feram s weRaT 21 [Corporation Bank Marketing Officer] i (e) None of these
(a) 180 (b) 720 () 30 (d) 90 i 7. No teacher from the Commerce stream is to be
(e) None of these i included?
In how many ways, the letter of the word 'VISITING' i Commerce To5& &1 g Wit eTeaTUs: Wiwfe T 217
can be rearranged? [IBPS(SO) | (a) 81 (b) 62 (c) 46 (d) 84
Teha™ O%E | “VISITING’ 9162 &l Saferd fehalm ST Weke | (e) None of these
kA i 8. Any tea}cher can be included in the committee?
@ 6720  (b) 5720 ©720  (d) 7620 P e s o sreaTaen witEetd 2
(e) None of these i (a) 626 (b) 718 (c) 924 (d) 844
In how many ways, the letters of the word 'SACRED' | (e) None of these
can be arranged so that vowels come together? i 9. In how many different ways can the letters of the
Teha™ a8 W ‘SACRED’ IT&Z ohl SIS fehaT ST WahaT | word 'CYCLE' be arranged? [PNB Management trainee]
ATfeR TN Teh-TTe =? [10B (PO)] i feRa™ STETT-3TeTT aitehl | “CYCLE’ 9168 hl
(a) 240 (b) 120 (©320 (@) 720 L fore T R
(e) None of these ! () 120 (b) 240 (c) 30 (d) 80
In how many different ways can the letters of the i (e) None of these
word 'THERAPY' be arranged so that the vowels i 10. In how many different ways can the letters of the
never come together? [IBPS Bank (PO)] | word 'BANKING' be arranged? (Corporation Bank (PO)]
eheI STTT TR | “THERAPY’ Y168 hl STa eI feha =T | TERaT STETT- STERT Tkl | ‘BANKING’ I <Y
Tehell & TTfeh T heit o Teh-|rer T2 ! TeRaIT ST Eeha 1
(a) 720 (b) 1440 (©) 5040 (d) 3600 i (a) 5040 (b) 2540 (c) 5080 (d)2520
(e) 4800 ' (e) None of these
On a shelf, there are 4 books on Economics, 3 books | 11 Out of 5 men and 3 women, a committee of 3
on Management and 4 books are Statistics. In how i members is to be formed so that it has 1 woman and
many different ways, can the books be arranged so | 2 men. In how many different ways can it be done?
that the books on Economics are kept together? i S 31131:& 31 3 AT o & 3 W hl Teh HUST S E,
TH A 4 ECONOMICS, 3 o o e of o 2 STTa A, TeR STt SrenT adient
Management A9 4-REAT statistie T & ¥, 3 | W I HHET I AT Wehelt B [United Bank of India (PO)]
fepmmal R Wi @ afiea fRam ST weRaT € AT | (@ 20 (b) 10 (0 23 (@ 30
Economics @t fehaTel Tek TTer Wit SN i (e) None of these
[Punjab and Sind Bank (PO)] | 12. In how many different ways can the letters of the
(a) 967680  (b) 120960 (c) 5040 (d) 40320 i word 'PRIDE' be arranged? [RBI (Scale )]
(e) None of these i feRar W—Wﬁ'ﬁﬂﬁ'ﬁ' PRIDE mﬁ'aﬁmﬁwmm
Directions (Q. Nos. 6-8) : - Study the given information carefully to AT FHAT 2
answer the questions that follow. [Indian Bark (PO)] | (a) 60 (b) 120 (© 15 (d) 360
A committee of 6 teachers is to be formed out of 4 i (e) None of these
Science teachers, 5 Arts teachers and 3 Commerce ! 13. 2 girls and 4 boys are to be seated in a row in such a

different ways can it be done?



2 TSR qAT 4 TTgehl I T TI13T H 36 TE ASMT 3,
ATk TTSIRAT ek W T IS, Teher STETT- ST alient &
ITHT ASTAT ST TRl T
(a) 720 (b) 480
(e) None of these

(c) 360 (d) 240

Directions (Q. Nos. 14-16) :- Read the following statements

carefully to answer the give questions.

14.

15.

16.

[SBI (PO)]
A committee of 12 persons is to be formed from 9
women and 8 men.

9 AT A 8 AEfaa W | 12 SAfRTa st Ueh huel
AT §

In how many ways this can be done if atleast 5
women have to be included in a committee?

Teham atent & ShHET ST S Hehell €, AR FH A HA 5
3 3TH At gl
(a) 6000 (b) 6010
(e) None of these

In how many of these committees the women are in

(c) 6062 (d) 6005

majority?

foh Ttent W wHET SATE ST Wehdl §, AR 3iRd
g o 217

(a) 2000 (b) 2.700 (c) 2705  (d) 2702

(e) None of these
In how many of these committees, the men are in

majority?

el ¥ HAST TR ST Gehell &, dTfeR ATTH
g o 217
(a) 1008 (b) 1100 (©)1200  (d) 1225

(e) None of these

Directions (Q. Nos. 17-21) : - Study the given information carefully

and answer the questions that follow.

17.

18.

19.

[RBI]
An urn contains 3 red, 6 blue, 2 green and 4 yellow
marbles.

Teh It § 3 AT, 6 T, 2 X q9T 4 Wil TR T &
In two marbles are picked at random, what is the

probability that both are green?
TfE BT AES THeRTer ST &, T ST AR & &, SHahl

T YT rehal EHIT?
2 1
“ b) —
@ 15 (b) 15
(e) None of these

If three marbles are picked at random, what is the
probability that two are blue and one is yellow?

gfe T AR Rl S, SAE &Y e de ek Uiem
WS T, ST AT YTireheT 2
(b)i (C)l—2

91 91
(e) None of these

If four marbles are picked at random, what is the
probability that atleast one is yellow?

Tfe oI TEet Frertel STt S/W W T Ueh Uil 20,
THehT FIT UTTTehaT 81

91 69
@ E (b) a

2
© i @1

2 3
(a) 1—5 (d 1—5

125 1
© m (d) Z

20.

21.

(e) None of these
If two marbles are picked at random, what is the
probability that either both are red or both are

green?
Tfe S ARereT FHrehTer ST, dF IT aF ST ATeT 217 AT gt
T ENT SHHT AT UTrIeRaT
3 4 2 5
(a) E (b) ﬁ © 7 (d a
(e) None of these

If four marbles are picked at random, what is the
probability that one is green, two are blue and one
is red?

i TR AR FHehTer ST, Y SHH Tk &0, 81 ey dem
ek 1T 21T, SHeRT ST WTFTehal &7

4 17 6

- b) =~ =2
@) 15 ®) 280 © 91
(e) None of these

Directions (Q. Nos. 22-25) : - Study the given information carefully
and answer the questions that follow.

22.

23.

24,

25.

A basked contains 4 red, 5 blue and 3 green
marbles.

Teh 91 W 4 A1, 5 el 90T 3 3 IRl W 8

If three marbles are picked at random, what is the

probability that either all are green or all are red?
[SBI Associated Bank (PO)]

IfE I T | 3 AR HehTel S, A7 41 ar @t T4 2

T FHT AT ST, SHRT AT UTIAhT g

7 7 5 1
(@) z (b) E © E (d z
(e) None of these

If two marbles are picked at random, what is the

probability that both are red?
Tfg ST 7 | I AT fHehRter W&, 1 ST AREeT Tt

T, TEEhT ST UTFehdT g1
3 1
2 b) =

(a) 7 (b) >

(e) None of these

If there marbles are picked at random, what is the
probability that atleast one is blue?

i &t o W 3 TR FHeRTe! I a7 SEY &0 d &7 Th
et 17 T URE ENMT, SWeht oRIT Wkl &1

37 7
() p @ o
(e) None of these
A basket contains three blue and four red balls. If
three balls are drawn at random from the basket,

what is the probability that all three are either blue
or red? [Bank of India Banking Officer]
Tk It § 3 et AT 4 T AT Wt , afs 3 &
TreRTelt ST, A WA Ster A A Aot g 9w e
TR, SEehT T WITIehaT 81

1

1 b) =

(@) ® -
(e) None of these

2 1
© H (d g

7 5
(a) 1—2 © E

) =

3
© 3 28



Directions (Q. Nos. 26-30) : - Study the given information carefully

and answer the questions that follow.

26.

27.

28.

29.

[SBI (PO)]
An urn contains 6 red, 4 blue, 2 green and 3 yellow
marbles.

Teh I T 6 T, 4 Fiel, 2 & 7T 3 Uielt TRee @ g1
If four marbles are picked at random, what is the
probability that atleast one is blue?

fe =R Ae FHerter S dF S0 7 | /T Tk et
ZIt SHeRT SRT UTFIehaT B
4 69 11 22
- b) =2 i ) =22
) 15 ®) 91 © 15 ) 91
(e) None of these
It two marbles are picked at random what is the

probability that both are red?
Tfe 3 ARE THeRTel ST, a1 ST AR ATl ST, SHehT

T WTFTehaT 872
1 1
el b) =
@ 6 (b) 3
(e) None of these

If there marbles are picked at random, what is the
probability that two are blue and one is yellow?

fe T A THeRTer SIS A 390 2 et qe Tes e
ZITIT, THehT ST YTfereheT 82 [Bank of India Banking Officer]
3 1 7
= b) = o)
@ o1 (b) z (D 15
(e) None of these
If four marbles are picked at random, what is the

probability that one is green, two are blue and one
is red?

fe oI Uiee TehRtet S dt 370 Teh &1, &1 et a9

2 2
© 1—5 (d) g

18
C —
© 455

Teh AT BT, SWeht ST UTFeheT &1
24 13 11 1
@ P 9 @3

30.

(e) None of these

If two marbles are picked at random, what is the
probability that either both are green or both are
yellow?

T I AR THrehter ST, IT 4T AT 38 3 AT AT Uiy
20T, Y ST T WTehar §7

5 1 1

-~ b) — z
(a) o1 (b) 35 (© 3
(e) None of these

4
d) —
()105

Directions (Q. Nos. 31-32) : - Study the given information carefully

to answer the questions that follow.

31.

32.

[PNB (PO)]
A basket contains 6 blue, 2 red, 4 green and 3
yellow balls.

Tk 9t o 6 e, 2 ETeT, 4 &l e 3 Uieh e &t &,
If 2 balls are picked at random, what is the
probability that either both are green or both are

yellow?
Tfe 2 ot FHeRTe SR, a7 AT ar AT 30 3 ar aer
Uil 2, SHeRT ST UTfEehar &2
2 3 1 3
(a) E b % (© 5 (@ E
(e) None of these

If 5 balls are picked at random, what is the
probability that atleast one is blue?

gfe 5 SIfet FHeRTell ST 4T kT W oW Tek wiet 17 Skt 2,
THhT SRIT WTFehaT &2

137 9 18 2

27 b) — =2 d) 2
@) 143 ( )91 © 455 @ 5
(e) None of these



